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KVS PRT General English Memory 

Based Questions 
 

Choose(Q1-2) the one that best expresses the 

given word's meaning. 

 

Q1. PROSCRIPTIVE 

(a) squalid 

(b) exiguous 

(c) exclusion 

(d) thrifty 

Ans.(c) 

 

Q2. UPFRONT 

(a) dissembling 

(b) ingenuous 

(c) equivocal 

(d) ambiguous 

Ans.(b) 

 

Q3. Fill in the blank with the appropriate article   

I am making my parents ____________ Christmas 

present that I will send through __________ mail. 

(a) a, the 

(b) a, a 

(c) an, a 

(d) a, an 

Ans.(a) 

 

Q4. Fill in the blank with the appropriate 

preposition 

When she parted ______ her lover, her eyes were full 

of tears.  

(a) off 

(b) of 

(c) from 

(d) to 

Ans.(c) 

 

Q5. Out of the four alternatives suggested, select 

the one which best expresses the same sentence in 

Passive/Active voice.  
Did they pay the junior doctors their salary on time? 

(a) Were the junior doctors being paid their salary 

on time? 

(b) Were the junior doctors paid their salary on 
time? 

(c) Was the junior doctors paid their salary on time? 

(d) Had the junior doctors been paid their salary on 

time? 
Ans.(b) 

 

Q6. A person who is lazy and has low standards of 

cleanliness. 

(a) hog  
(b) slob 

(c) swine  

(d) brute 

Ans.(b) 
 

Q7. Choose the one that best expresses the meaning 

of the given idiom/phrase. 

A cold-blooded murder 
(a) An intentional /premeditated murder 

(b) To go on a vacation 

(c) To murder all members of a family 

(d) To murder with no weapon 

Ans.(a)   
 

Q8. Select the word or group of words with the 

most opposite meaning to the words in capital 

letters. 
PROCRASTINATE 

(a) To be prompt  

(b) To adjudicate 

(c) To teach  

(d) To help others 
Ans.(a)  
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Q9. He spoke about coming up ___________ innovative 

ideas for getting the harvest to the mandis for sale, 

like starting a “truck aggregator” system just like a 
cab aggregator system in urban areas. 

(a) with  

(b) for 

(c) in 
(d) to 

Ans.(a) 

 

Q10. Identify the underlined phrase in the sentence 
below 

Reading comics, was his hobby 

(a) Adjective phrase 

(b) Noun phrase 

(c) Adverb phrase 
(d) None 

Ans.(b) 

 

Q11. Choose the correct form of tense. 
I _______ (teach) for fifteen years this summer. 

(a) Will have been teaching 

(b) Will teaching 

(c) Will be teaching 
(d) Shall teach 

Ans.(a) 

 

Direction (12-16): Read the following passage 

carefully and choose the most appropriate 
answer to the question out of the four 

alternatives.  

The public distribution system, which provides 

food at low prices, is a subject of vital concern. 
There is a growing realization that though India has 

enough food to feed its masses two square meals a 

day, the monster of starvation and food insecurity 

continues to haunt the poor in our country. 

Increasing the purchasing power of the poor 

through providing productive employment leading 

to rising income, and thus good standard of living is 

the ultimate objective of public policy. However, till 

then, there is a need to provide assured supply of 

good through a restructured, more efficient and 

decentralized public distribution system (PDS). 

Although the PDS is extensive it is one of the largest 

such systems in the world - it has not reached the 

rural poor and the remote places. It remains an 

urban phenomenon, with the majority of the rural 

poor still out of its reach due to lack of economic 

and physical access. The poorest in the cities and 

the migrants are left out, for they generally do not 

possess ration cards. The allocation of PDS supplies 

in big cities is larger than in rural areas. In view of 

such deficiencies in the system, the PDS urgently 

needs to be streamlined. Also, considering the large 

food grains production combined with food subsidy 

on one hand and the continuing slow starvation and 

dismal poverty of rural population on the other, 

there is a strong case for making PDS target group 

oriented. By making PDS target group oriented, not 

only the poorest and the neediest would be reached 

without additional cost but we can also reduce the 

overall costs incurred. 

 

Q12. Which of the following is true of public 

distribution system? 

(a) It has reached the remotest corner of the 

country 

(b) It has improved its effectiveness over the years 

(c) It is unique in the world because of its 

effectiveness. 

(d) It has remained effective only in the cities. 

Ans.(d) 

 

Q13. What, according to the passage, would be the 

rationale of making the PDS target - group 

oriented? 

(a) It will motivate the target-group population to 

work more 

(b) It will abolish the imbalance of urban and rural 

sectors. 

(c) It will remove poverty 

(d) It will give food to the poorest section without 

additional cost. 

Ans.(d) 

 

Q14. The full form of PDS is: 

(a) Public distribution system 

(b) Private distribution system 

(c) Partial distribution system 

(d) Party distribution system 

Ans.(a) 
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Q15. The public distribution system, which 
provides food at ______ is a subject of vital concern. 
(a) as per capita income 
(b) fair prices 
(c) low prices 
(d) high prices 
Ans.(c) 
 
Q16. What should be an appropriate step to make 
the PDS effective? 
(a) To reduce administrative cost 
(b) To make it target group oriented 
(c) To increase the amount of food grains per ration 
card 
(d) To decrease the allotment of food grains 
Ans.(b) 
 

KVS PRT General Hindi Memory 
Based Questions 

 

Q1. तुलसीकृत में कौन सा समास है –  

(a) कममधारय समास  

(b) तत्पुरुष समास  

(c) बहुब्रिही समास  

(d) अव्ययीभाव समास  
Ans.(a) 
 

Q2. मकरध्वज में कौन सा समास है –  

(a) कममधारय समास  

(b) तत्पुरुष समास  

(c) बहुब्रिही समास  

(d) अव्य्व्व्यी समास  
Ans.(c) 
 

Q3. को और के ब्रलए ककस कारक के ब्रिन्ह है-  

(a) सम्प्रदान कारक  

(b) करण कारक  

(c) अपादान कारक  

(d) संबोधन कारक  
Ans.(a) 
 

Q4. पेड़ पर पक्षी बैठे है, इस वाक्य में पेड़ पर पद में कौन सा 

कारक है-  

(a) करण  

(b) अपादान  

(c) सम्प्बन्ध  

(d) अब्रधकरण  
Ans.(d) 

Q5. ‘दवेेन्र’ का संब्रध ब्रविेच्द –  

(a) देव + इंर  

(b) देव + एंर  

(c) दैव + इंर  

(d) दैव + इब्रन्रय  

Ans.(a) 
 

Q6. आप भला जो जग भला, इस वाक्य में ‘आप’ और ‘भला’ 

शब्द में कौन सा सवमनाम है –  

(a) ब्रनजवािक सवमनाम  

(b) रश्नवािक सवमनाम  

(c) ब्रनश्चयवािक सवमनाम  

(d) अब्रनश्चय वािक सवमनाम  

Ans.(a) 
 

Q7. उत्तम पुरुष सवमनाम से सम्प्बंब्रधत उदाहरण ककस ब्रवकल्प 

में से है-  

(a) तुम  

(b) वह  

(c) ये  

(d) मै  

Ans.(d) 
 

Q8. पुरुषवािक सवमनाम तू शब्द है-  

(a) अन्य पुरुष  

(b) उत्तम पुरुष  

(c) माध्यम पुरुष  

(d) इनमे से कोइ नहीं  

Ans.(c) 
 

Q9. ब्रनम्नब्रलब्रित में से ककस वाक्य में अकममक किया है –  

(a) गेहं ब्रपस रहा है  

(b) मै बालक को जगवाता ह  

(c) राम श्याम को हंसा रहा है  

(d) राम पत्र ब्रलिता है  

Ans.(a) 
 

Q10. ककस एक वाक्य में किया ब्रवशेषण रयुक्त हुआ है-  

(a) वह धीरे से बोलता है  

(b) वह काला कुत्ता है  

(c) रमेश तेज धावक है  

(d) सत्य वाणी संुदर होती है  

Ans.(a) 
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Q11. ब्रलब्रित भाषा के ककतने अंग होते है –  

(a) 2 
(b) 3 
(c) 4  

(d) 5  

Ans.(c) 
 

Q12. ‘ि’ वगम के वणों का उच्चारण स्थान कौन सा है-  

(a) तालव्य  

(b) द्वन्य  

(c) कंठ्य  

(d) ओस््य  

Ans.(a) 
 

Q13. ब्रलिने में स्वरों का रयोग ककतने रकार से ककया जा 

सकता है –  

(a) एक  

(b) दो  

(c) तीन  

(d) िार  

Ans.(b) 
 

Q14. ‘अं’ को अयोगवाह ककसने कहा था-  

(a) रामिन्र शुक्ल  

(b) कामता रसाद गुरु  

(c) ककशोरी दास बाजपेयी 

(d) नगेन्र   

Ans.(c) 
 

Q15. हहंदी वणममाला में अल्पराण वं्यजन होते है-  

(a) पहला, दसूरा वगम  

(b) दसूरा, तीसरा वगम  

(c) िौथा, पांिवा वगम  

(d) पहला, तीसरा, पांिवा वगम  

Ans.(d) 
 

KVS PRT General Awareness & 
Current Affairs Memory Based 

Questions 
 
Q1. National Milk Day is celebrated on? 
(a) 11 January 
(b) 11 February 
(c) 21 February 
(d) 21 January 
Ans.(a) 

Q2. In which country was the FIFA World Cup 
2023 held? 
(a) Germany 
(b) France 
(c) Qatar 
(d) Argentina 
Ans.(c) 
 
Q3. Who among the following is the author of the 
book “Kala Pani”? 
(a) Manodharmaparagam 
(b) Madhuranthakam Narendra 
(c) M. Rajendran 
(d) Kajli Soren 
Ans.(c)  
 
Q4. Who has been awarded for Saraswati Samman 
in 2021? 
(a) Padma Sachdev 
(b) Sitanshu Yashaschandra 
(c) Ram Darash Mishra 
(d) Vasdev Mohi 
Ans.(c) 
 
Q5. Who won Best Actor Award 2022 (Male) ? 
(a) Jr. NTR 
(b) Amitabh  Bachchan 
(c) Vahid Mobasheri 
(d) Seu Jorge 
Ans.(c) 
 
Q6. NCC day is celebrated on? 
(a) 27th February 
(b) 27th April 
(c) 27th September 
(d) 27th November 
Ans.(d) 
 

KVS PRT Reasoning Ability Memory 
Based Questions 

 
Q1. In the below given dice which digit will be on 
the opposite surface to digit ‘5’? 

 
(a) 1  
(b) 2   
(c) 4  
(d) 6 
Ans.(b) 
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Q2. Arun, Beena, Cheery, Dixy and Elina are five 
friends sitting in a circle. Cheery is sitting 
immediately to the left of Elina. Arun is between 
Dixy and Elina. 
Who is sitting between Beena and Arun? 
(a) Cheery 
(b) Dixy  
(c) Elina  
(d) None 
Ans.(b) 
 
Q3. Find out which of the diagrams given in the 
alternatives correctly represents the relationship 
stated in the question. 
Intelligent, Children, Fruits 
(a) 

  
(b) 

  
(c) 

    
(d) 

  
Ans.(a) 
 
Q4. RAMI walks a distance of 600 metres towards 
east, turns left and moves 500 metres, then turns 
left and walks 600 metres and then turns left again 
and moves 500 metres and halts. At what distance 
in metres is she from the starting point ? 
(a) 0  
(b) 2200 
(c) 600  
(d) 500 
Ans.(a) 
 

Q5. In the question two statements are given, 
followed by two conclusions, I and II. You have to 
consider the statements to be true even if it seems 
to be at variance from commonly known facts. You 
have to decide which of the given conclusions, if 
any, follows from the given statements. 
Statement I: Some genies are ogres 
Statement II: No magic are genies 
Conclusion I: Some ogres are magic 
Conclusion II: All magic are ogres 
(a) Only conclusion I follows 
(b) Only conclusion II follows 
(c) Both conclusion s I and II follow 
(d) Neither conclusion I nor conclusion 
Ans.(d) 
 

KVS PRT Computer Literacy Memory 
Based Questions 

 
Q1. Which of the following is an Output device 
(a) Printer 
(b) Key-board 
(c) Microphone 
(d) Mouse 
Ans.(a) 
 
Q2. Which of the following is not a web browser? 
(a) Chrome 
(b) Mozilla firefox 
(c) Opera 
(d) MS DOS 
Ans.(d) 
 
Q3. Which of the following is an operating system? 
(a) Chrome 
(b) Android 
(c) MS Paint 
(d) None of the above 
Ans.(b) 
 
Q4. Which of the following is not a programming 
language 
(a) PASCAL 
(b) FORTRAN 
(c) BASIC 
(d) FOREIGN 
Ans.(d) 
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Q5. Pascal is______. 

(a) A high-level programming language 

(b) Named after Blaise Pascal 

(c) Named after mathematician that facilitates 

structured programming techniques  

(d) All of the above 

Ans.(d) 

 

KVS PRT Perspectives on Education 

and Leadership  Memory Based 

Questions 
 

Q1. The full form of TLM is __________. 

(a) total learning matter 

(b) total listening material 

(c) teaching-learning material 

(d) teaching-learning module 

Ans.(c) 

 

Q2. What is the full form of NIPUN 

(a) National Initiative for Proficiency in Reading 

with Understanding and Numeracy 

(b) National Inclusive for Profit in Reading with 

Understanding and Numeracy 

(c) None of these 

(d) National Initiative for Person in Riding with 

Understanding and Number 

Ans.(a) 

 

Q3. Children with learning disabilities: 

(a) have retarded mental development 

(b) have low IQ 

(c) have confusion between letters and alphabets 

that look alike 

(d) easily recognise and comprehended sight words 

Ans.(c) 

 

Q4. According to National Education Policy 2020, 

the emphasis of education should be on - 

(a) conceptual understanding 

(b) decontextualized content 

(c) rote learning 

(d) learning - for exams 

Ans.(a) 

 

Q5. Which one of the following is not a guiding 
principle of the National Curriculum Framework 
2005? 
(a) the curriculum should be enriched so that it 
goes beyond textbooks 
(b) making examination standardized and rigid 
(c) shifting away of learning from rote methods 
(d) connecting knowledge to life outside the school 
Ans.(b) 
 
Q6. Which section of Right to Education Act 2009, 
states about duties and responsibilities of teachers? 
(a) section 24 
(b) section 16 
(c)  section 23 
(d) section 4 
Ans.(a) 
 
Q7. Which one of the following does not having 
maximum development during adolescent stage? 
(a) intellectual abilities 
(b) mental abilities 
(c) interest related abilities 
(d) all of these 
Ans.(d) 
 
Q8. Which of the following will help a teacher to 
enhance the creativity of the students? 
(a) goal focused 
(b) task focused 
(c) reward focused 
(d) both a and b 
Ans.(b) 
 
Q9. Which of the following is an important aspect 
of social learning? 
(a) imitation 
(b) rote memorization 
(c) operant conditioning 
(d) cognitive ability 
Ans.(a) 
 
Q10. Which of the following statement is true? 
(a) development is only a quantitative process 
(b) growth is the mental process 
(c) heredity does not affect mental process 
(d) learning is a process of behavioral changes 
Ans.(d) 
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Q11. Cognitive development among children is the 

result of 

(a) only heredity 
(b) only environment 

(c) interaction of heredity and environment 

(d) only economic factors 

Ans.(c) 
 

Q12. Divergent thinking is usually related to: 

(a) creativity 

(b) imitation 
(c) giftedness 

(d) disadvantaged child 

Ans.(a) 

 

Q13. Which of the following is the modern concept 
of education? 

(a) teacher-centered education 

(b) child-centered education 

(c) subject centered education 
(d) curriculum centered education 

Ans.(b) 

 

Q14. If a teacher finds a problematic child in the 
class, what should he does? 

(a) punish the child 

(b) ignore the child 

(c) provide counselling to the child 

(d) send the child back to home immediately 
Ans.(c) 

 

Q15. Inquiry approach method develops the ability 

of learner for: 
(a) using the experience of a teacher 

(b) assimilating more information in less time 

(c) experimentation 

(d) maximizing verbal learning 

Ans.(c) 
 

Q16. Which of the following method is also known 

as chalk and talk method? 

(a) lecture method 
(b) lecture-cum-demonstration method 

(c) deductive method 

(d) analytic method 

Ans.(a) 
 

Q17. Which of the following is an environmental 
factor which impacts learning? 
(a) attitude 
(b) motivation 
(c) personality traits 
(d) school 
Ans.(d) 
 
Q18. ___________ plan is of similar format to the year 
plan but covers an entire unit of work. 
(a) period 
(b) unit 
(c) lesson 
(d) none of the above 
Ans.(b) 
 
Q19. Which motivational technique will be more 
useful for slow learners? 
(a) award and appreciation 
(b) punishment 
(c) condemnation 
(d) challenge 
Ans.(a) 
 
Q20. Which of the following is not a symptom of 
dyscalculia? 
(a) difficulty with math-related word problems 
(b) trouble with understanding the time sequence 
of events 
(c) trouble in recognizing logical information 
(d) difficulty in learning songs and rhymes 
Ans.(d) 
 
Q21. The models of educational leadership are -   
(a) Responsible leadership 
(b) Transformation leadership 
(c) School leadership 
(d) All of the above 
Ans.(d) 
 
Q22. Who proposed four types of effects of school 
leadership on student learning? 
(a) Robinson    
(b) Jan Donley 
(c) Ronnie Detrich 
(d) Jack States 
Ans.(a) 
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Q23. Elements of school leadership in great school 
leaders exhibit 
(a) critical thinking & awareness 
(b) teamwork & adaptability  
(c) both (a) and (b) 
(d) none of the above 
Ans.(c) 
 
Q24. Who is a partner with the school in children’s 
education and development? 
(a) family and the community 
(b) teacher and the community 
(c) parents and the community 
(d) school and the community 
Ans.(a) 
 
Q25. What type of environment does a school 
operate in? 
(a) specific 
(b) common 
(c) isolation 
(d) social 
Ans.(c) 
 

KVS PRT EVS Memory Based 
Questions 

 
Q1. Karnam Malleshwari wightlifter belongs to 
which state? 
(a) Andhra Pradesh 
(b) Arunachal pradesh 
(c) Kanataka 
(d) Kerala 
Ans.(a) 
 
Q2. Select true statement about sloths from the 
following 
(a) Sloth look like bear and spend almost 22 hour a 
day sleeping while hanging on a tree branch 
(b) sloths look like chimpanzee and spend almost 
17 hours a day sleeping while hanging on a tree 
branch 
(c) sloths look like chimpanzee and spend almost 
22 hours a day sleeping while hanging upside down 
on a tree branch 
(d) sloths look like bear and spend almost 17 hours 
a day sleeping while hanging upside down on a tree 
branch 
Ans.(d) 

Q3. Identify the type of map a teacher would refer 

to in order to teach the distribution of forests in a 

particular region. 

(a) physical maps 

(b) political maps 

(c) small scale maps 

(d) thematic maps 

Ans.(d) 

 

Q4. One Pashmina shawl is as warm as ________ 

normal sweaters and ______ hours are taken to 

weave a plain Pashmina shawl. 

(a) 10; 200 

(b) 06; 250 

(c) 06; 200 

(d) 10; 250 

Ans.(b) 

 

Q5. Which element of weather is measured in 

degree Celsius? 

(a) Temperature 

(b) Pressure 

(c) wind 

(d) Gravity  

Ans.(a) 

 

Q6. Malaria can be detected by testing the blood for 

the presence of : 

(a) Eggs of mosquito is red blood cells 

(b) Plasmodium in red blood cells 

(c) Ruptured liver cells in blood 

(d) Larvae of mosquito in blood 

Ans.(b) 

 

Q7. Which of the following is a set of chemical 

Changes? 

A. Mixing sugar in milk 

B. Setting milk into the curd 

C. Making cottage cheese from milk 

D. Making buttermilk from curd 

 

(a) A and B 

(b) B and C 

(c) C and D 

(d) A and D 

Ans.(b) 
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Q8. The name of particular species of birds whose 
male bird makes many beautiful nests and the 
female bird selects one nest to lay her eggs is 
(a) Indian robin 
(b) sunbird 
(c) tailor bird 
(d) Weaver bird 
Ans.(d) 
 
Q9. Pitcher plant (Nepenthes): 
(a) Is not found in India 
(b) cleverly traps and eats frogs, insects and mice 
(c) emits sounds of high pitch to attract insects 
(d) has mouth covered with tiny hooks 
Ans.(b) 
 
Q10. Kannauj is famous for its - 
(a) wood carving 
(b) jamdani textile 
(c) perfumes 
(d) patola embroidery 
Ans.(c) 
 
Q11. Which among the following is a tree found in 
Australia, and the people sometimes uses this to 
store water for drinking? 
(a) eucal yptus 
(b) Jatropha 
(c) Desert Oak 
(d) Pine 
Ans.(c) 
 
Q12. Which among the following is the easternmost 
part of India? 
(a) Gujarat 
(b) Assam 
(c) Arunachal Pradesh 
(d) Mizoram 
Ans.(a) 
 
Q13. Which statement is false regarding the 
magnesium deficiency? 
I. it causes Kwashiorkor 
II. It causes Asthma 
III. It causes fatigue and muscle weakness 
(a) only I 
(b) only II 
(c) only III 
(d) All of the above 
Ans.(a) 

Q14. Segregation of concrete from rice is an 
example of which technique of  separation? 
(a) threshing 
(b) winnowing 
(c) Manual separation 
(d) filtration 
Ans.(c) 
 
Q15. The different patterns on the skin of animals 
are: 
(a) an indication of their physical strength 
(b) due to the reflected light 
(c) due to the weather conditions they live in  
(d) due to their hair on their skin 
Ans.(d) 
 
Q16. Which region has the practice of shifting 
cultivation in India? 
(a) Southern region 
(b) North-western region 
(c) South-eastern region 
(d) north-eastern region 
Ans.(d) 
 
Q17. In an ecosystem, the function of the producers 
is to 
(a) release energy 
(b) utilize chemical energy 
(c) trap solar energy and convert it into chemical 
energy 
(d) convert organic compounds into inorganic 
compound 
Ans.(b) 
 
Q18. The roofs of mud houses in Rajasthan are 
made up of which wood? 
(a) bamboo 
(b) mango 
(c) acacia 
(d) sal 
Ans.(c) 
 
Q19. Khasi is official language of ___________ 
(a) Uttar Pradesh 
(b) Meghalaya 
(c) Manipur 
(d) Arunachal Pradesh 
Ans.(b) 
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Q20. “Jagoi” is a dance form of which of the 

following states 

(a) Sikkim 
(b) Jharkhand 

(c) Manipur 

(d) Madhya Pradesh 

Ans.(c) 
 

KVS PRT Maths Memory Based 

Questions 
 

Q1. Convert 1000 liter in meter3 

(a) 1 m3 
(b) 100 m3 

(c) 2 m3 

(d) 150 m3 

Ans.(a) 

 
Q2. There are five numbers 9, 8, 7, 0, 3. What is the 

difference between biggest and lowest number 

made from given numbers? 

(a) 67941 
(b) 65845 

(c) 70743 

(d) 67851 

Ans.(a) 
 

Q3. Find the next term of the following series: 
1

6
,
1

12
,
1

20
,
1

30
,
1

42
,
1

56
, … ?  

 

(a) 
1

68
 

(b) 
1

76
 

(c) 
1

70
 

(d) 
1

72
 

Ans.(d) 

 

Q4. A rectangle has ___ line of symmetry 
(a) 1 
(b) 2 
(c) 3 
(d) 4 
Ans.(b) 
 
Q5. If 18 December 2022 was a Sunday, what day 
would it be on 15th March 2023? 
(a) Monday 
(b) Tuesday 
(c) Wednesday 
(d) Thursday 
Ans.(c) 
 
Q6. Solve: 1391112 ÷ 139 = ? 
(a) 1004 
(b) 1008 
(c) 10004 
(d) 10008 
Ans.(d) 
 
Q7. Radius of a circle is 84cm, find its 
circumference? 
(a) 428 cm 
(b) 528 cm 
(c) 538 cm 
(d) None of these 
Ans.(b) 
 
Q8. If a person buys an item for Rs. 425, and then 
he sells for 455 Rs. How many items should he sell 
to earn 660 Rs.? 
(a) 21 
(b) 22 
(c) 23 
(d) 24 
Ans.(b)
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